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Note : Answer the following questions in 15 words. Each question carries 2 marks.
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Define latent heat of matter.
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Name any two plant hormones and their functions.
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Nano-fertilizer
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What is the role of antioxidants in preservation of foods?
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What is the scientific name of "Wild jujube' (Jhahrberi) and what is its medicinal use?
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‘Colloidal state’ of matter
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Werite any four uses of Graphite.
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Concept of ‘Mass number’
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What are organophosphates? Write the names of any two organophosphates.
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What is 'Presbyopia’ defect of human eye?
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‘Electric potential’
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Explain top-down nano-technology. \ /
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What is R-CAT? Explain the purpose of its establishment.
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| ~— /Explain the difference between ‘Exosmosis’ and ‘Endosmosis’ with an example.
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Name any two microorganisms useful as bio-fertilizers.
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Which inventions were made by Dr. Jagdish Chandra Basu?
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In which cities have science parks been built in Rajasthan?
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What is stem cell technology? Throw light on the capabilities of this technology. Py \L s
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Mention any five applicationiyvmic waves.
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Explain the importance ofABO blood group by describing the gene pattern responsible
for this blood group.
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What are magnetic field lines? Explain their main properties.
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Describe the structure of the nucleus graphically and write its functions.
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What is ‘India AI’, the mega plan to make India a global leader in the AI? Explain. : ?E
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Highlight the difference between Luna-25 and 'Chandraydan-3/mission.
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What have been the reasons for the strong growth of the OTT platform in India? Describe.
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13.  |EEIUIH Sl i @Al T % St anem @ W S

Explain the scientific contributions of Subr 3ma& {:; Cl\weéfhar}ﬂi %,@K'—ﬂ
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15. mmmmm?ﬁr—waﬂmm (?”1:/7%\

Werite an article on ‘Ghar Ghar Aushadhi Yojana’ of Rajasthan Government.
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Note : Answer the following questions in 100 words. Each question carries 10 marks.
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Describe the progress made in recent years in Raj asthan in the field of information technology
and the new initiatives of the government. £
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2. Trafafes o feoit wifea:-
/@A.am’m FHugfeT B.¥88 ®WfeT  C.o%i3e WEag 2@ D. VoLTE

A. Quantum Computing B. Cloud Computing C. Virtual Private Network D. VoLTE
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3.

ear-wfra faol @R-%@ @ €7 37 w0l /fmun & qerees Hat W i)

What are the radio-active rays? Explain the comparative difference between these particles/rays.
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4 e A WidfsaT Fr 87 36 W@ U K ool Hw gU gHA wiwE @ ot avitew
@What is magnetic resonance imaging? While discussing its main qualities, also show its

shortcomings.
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y C. e =WT % W (Types of Electric Current)

qwji %W%‘ FP” (W'

<H feouft wife:-
A. urgell & fresdor ot TR’ o ‘o fafa # i
(Difference between ‘Calcination’ and ‘Roasting” method of refining metals)
B. ok Sftaw o pH A &l Hgd (Importance of pH value in daily life) -~ is

D. I URRET (Acquired Immunity) J\\,ﬁ,«ﬁ)
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6.  TECYN ®U § famfad WraEe e faen Bharat OS @1 £7 Bharat OS & Wgwa T W9
e

What is Bharat OS, an indigenously developed mobil
of Bharat OS.

ting system? Highlight the importance
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SRfea Al &t uRaifud &d g0 g8 el i Hurfaa wFEfaan @ 9ol &

Define generative Al and describe its benefits and potential challenges.
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(A) Change the following sentences from Active form to Passive form: (Q.No.1-7) . Marks 7
1. The old beggar stole my dog yesterday. 9

/M‘:\/dl;-af was  Stonlen ba fha ald. ‘o—e,qacm, ‘-{&J—i_ﬂ’-g_‘}\

U

2. They promised us higher wages at the factory
rjﬂ: Wi oz

3. They took down the notice. W WMM h"ﬂ""% Wayg &

QL%WQ, Wb ‘ﬁﬁK\&m loué-ﬂ«m

4. People felt that the social workers were doing valuable work.

O<T\'\L Sezial Wotres g Mad oo Valuadodo. wek pesple M@n-t&

5. The architect decided to have his assistant to design the building.

Mw«g{ heel dum a»ushuﬁwkw\ decided $hne

6. Don’tlet your fallure depress you. ot teck”
(74@7 dud vl depress ’ﬂa; SRy 'Caj(mfi*
7. Do they make bulbs in this factory?
O%“RM Paﬁw Did watle +trem bulbs ﬁw
(B)  Change the following dlrect sentences into indirect sentences: : (Q. No. 8- 14) Marks 7

8. He said, “I have already read this book.”

Uo Sassl dbal Hmmm
, TR

ﬁ]—k' bk

9. The employer said to the workers, “I cannot pay you higher wages.”

L@L*ﬂuz, Wevkers that He Cowtd
i ; Wﬂjw

10. “When shall I know the result of the test?” asked the candidate.

} vehen cuhodel he Euew o vesd £ X tent
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11. “Let the nations forget their differences and work together for peace,” said the preacher.
o ¥

Mﬁc Fmraeﬂ {usse du(ferented Quel WML (:ugd’kﬁ,qcm/
“.Su_ﬁ!q‘ebt e, pPveacher.

= e
12. “Has your book been published?” I asked the writer.

OZ%\/M b K had beew lfau,b(/:o% e abked e Lte)

13. You must work hard if you want to complete your course in time,” said the teacher.

\I&LVMM\LWOK Wc(wmfwa»at@(h Complete
Courde e ,E,cmo ﬁew e Realher

14. He said, “I know that hard work is not suitable for me. So I should think out a plan for my
/ future days of lazmess

tolol He™Epore st that hand ok ek Stibable
| Wr\ So Yeau shedd kK ot a plan fv Yo frkure

0‘4‘7 % L«Zc'mws.

(C) Identify the error and rewrite the correct form of the following sentences: (Q. %f 15-20) Marks 6

15.  The crowd was waiting for the Chief Minister on the airport.

/{‘ﬁ Cyowd Was wu(qwg fov fine. (hiek minisies ok
¥ %\u,cuvrn't‘

16.  The crowd pressed over the fence.

’74734.4. Cm:wee( PVUAW"@\-L fence

g

17.  Thehouse could not be finished of lack oﬂ'unds

Ty humseand ust e froshedd Fomm Lodk o5 funds

18.  Shewas depnved from her appointment.

—Z.%.;L wWas o(p{wﬁmi@@% a,‘p,pm"n,«”/malf‘

19.  The child is very clever for mimicking others.

~The  CUA o V‘O/M;} C/ev%@ m'rm/r'dq'hb ofhes r

20.  The thief was bound by a cham
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2. few gu ofish er=de @ fedt ® arae @it
We want that the whole should know that we are the worshippers of peace and that we have our own
history and that we believe in the co-existence of the people of the world. In fact, the organisation of the
competitions or the Olympic games is only a means. We do regard these games as only a festival of the
youth of the world where they may develop the qualities of friendship, brotherhood and mutual good will by

mingling with one another and playing together in a healthy competitive spirit.
In ancient time when the olympic games or the youth festivals were held then debates on philosophi-

cal topics wer organised. The learned used to exchange knowledge, the poets used to describe history in
poetry and artist and musicians used to develop new art and let them understand the civilization for the

preservation of which the world peace s essential.
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